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General Instructions:

1. All questions are compulsory.

2. The questions paper consists of 34 questions divided into four sections A, B, C and D.

3. Section Al contains 10 questions of 1 mark each, which are multiple choice type questions. Section B contains 8 questions of 2 marks each, Section C contains 10 questions of 3 marks each, Section D contains 6 questions of 4 marks each.

4. There is no overall choice in the paper. However, internal choice is provided in the question.

5. Use of calculators is not permitted.

1.
F=
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C+32. If the temperature is 950F, What is temperature in Celsius?


a) 450C

b) 550C

c) 350C

d) 400C 

2.
The adjacent angles ratio of parallelogram is 7:5. Find these adjacent angles.


a) 1100, 700

b) 750, 1050

c) 1550, 250

d) 1600, 200
3.
A triangle and a rhombus are on the same base and between the same parallel. Then the ratio of area of triangle to that of rhombus is 

a) 1:4

b) 1:2

iii) 1:3

iv) 1:1

4.
O is the centre of the circle and <AOB=800,

Then <ACB equals


a) 1600
b) 1400
c) 1000
d) 400
5.
The height and slant height of a cone are 21cm and 28cm


Respectively. Find volume of cone.



a)7566cm3
b) 7486cm3
c) 7546cm3
d) 7544cm3.

6.
A fair coin is tossed 80 times  and the head occurs 32 times and tail 48 times. The experimental probability getting a head.

a)
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b) 
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16



c) 
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48



d) 
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7.
In a equation , 2x+y = 7. If the value of y = -3 . The value of x equals to

a)  - 5

b) 
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5


c) 
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7


d) 5

8.
The area of parallelogram is 70cm2, then the length of altitude is 3.5cm. Find the base of corresponding altitude of parallelogram.


a) 30cm

b) 20cm

c) 35cm

d) 7cm

9.
ABCD is a parallelogram in which <BCD=1000. Then x equals to

a) 800

b)700

c) 500

d) 400
10.
OC is drawn perpendicular the centre O

Of the circle to the chord AB. If OB=5cm

and OC=3cm, the length of the chord AB is

a)3cm
b) 4cm
c) 6cm
d)8cm

Sec-B
11.
A man purchased x no of electric bulb and p no of switches. 7 electric bulbs were fused. 2 switches were defected .  If he sold each non defective bulb and switch is Rs.10 and Rs. 4.50 respectively. Total cost getting is Rs.170. Write linear equation by using above information.
12.
<ABC=690, <ACB=310,


Find <BDC.
13.
In ∆ ABC, D, E and F are respectively midpoints of sides AB, BC and CA. Show 

that ∆ABC is divided into four congruent triangles by joining D, E and F.

14. 
ABCD is a cyclic quadrilateral

Whose diagonals intersect at

a point E. If <DBC=800,

<BAC=300. Find <BCD.


15.
ABCD is a ||gm. AE┴DC.

And CF┴AD. If AB=32cm, AE=16cm


And CF=20cm. Find AD.

16.
The curved surface area of a cylinder is 176cm2 and its base area is 38.5cm2. Find the volume of cylinder.

17.
Curved surface area of a cone is 308cm2 and its slant height is 14cm. Find its radius and height. 
18.
Find the mean of first ten multiples of 3 nos.
Sec-C

19.
Draw the graph of two lines, whose equations are x+y=7 and x+2y=6. On the same graph paper. Find the area of triangle formed by two lines and X-axis.

20.
If the no of hours for which a labourer works is x and y are his wages (in rupees) and y=2x-1, draw the graph of work wages equation. From the graph. Find the wages of the labourer if he works for 6 hours.
21.
If two equal chords of a circle within the circle, prove that the segments of one chord are equal to corresponding segments of the other chord.
22.
Show that the diagonals of a Rhombus are perpendicular to each other.









Or


ABCD is a parallelogram in which E and F


Are the midpoints of the sides AB


And CD respectively. Prove that the line


Segments CE and AF trisect the diagonal BD.

23.
Construct a triangle ABC  in which BC=7cm, <B=750 and AB+AC=13cm. 
24.
A hemispherical bowl made of brass has inner diameter 10.5cm. Find the cost of tin plating it on the inside at the rate of Rs. 16 per 100cm2.









Or


From a solid right circular cylinder with height 10cm and radius of the base 6cm, a right circular cone of the same height and base is removed. Find the volume of the remaining solid. (Take π=3.14)

25.
A river 3m deep and 40m wide is flowing at the rate of 2km per hour. How much water will fall into the sea in a minute.

26.
Find the mean of the following data by using shortcut method.

	Marks
	20
	22
	25
	30
	35
	39
	45
	50
	Total

	Frequency
	4
	6
	8
	10
	8
	7
	5
	2
	50


27.
Fifty seeds were selected from each of 5 bags of seeds and were kept under conditions. After 20 days the no of seeds which had germinated were counted below. 
	Bag
	1
	2
	3
	4
	5

	No of seeds germinated
	40
	48
	42
	39
	41


What is probability of germination  of 

i) More than 40 seeds in a bag


ii) 40 seeds in a bag?


iii) More than 35 seeds in a bag.                            

28.
Three coins are tossed simultaneously 200 times with the following frequencies of different outcomes
	Outcomes
	3heads
	2 heads
	1 head
	No head

	Frequency
	23
	72
	77
	28


Sec-D
29.
i) Draw the graph of the equation 2x+3y=11. From your graph, find the value of y, when x = - 2 .

ii) If  value of x= - 2, y = 1 of  -3kx + 2ky -36= -4ky. Then find the value of k.











Or
Nine times a two-digit number is the same as twice the number obtained by interchanging the digits of the number. If one digit of the number exceeds the other number by 7, find the number.

30.
Show that the bisectors of the angles of a parallelogram enclose a rectangle.






Or

ABCD is a parallelogram in which <A=600.

If the bisectors of <A and <B meet DC at P,

Prove that i) DC=2AD

31.
The line segment joining the midpoints of any two sides of a triangle is parallel to the third side and equal to half of it.


32.
In the given figure, AB

Is a diameter of a circle


With centre O and CD||BA.


If 
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BAC=200, find


i)
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BOC



ii) 
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iii)
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iv) 
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33.
A cylindrical metallic pipe is 14cm long. The difference between the outside and inside surfaces is 44cm2. If the pipe is made up of 99cu cm of metal, find the outer and inner radii of the pipe.
34.
Draw a histogram to represent the following frequency distribution.
	Class Interval
	10-15
	15-20
	20-30
	30-50
	50-80

	Frequency
	6
	10
	10
	8
	18
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